Determinants - Class XII

Related Questions with Solutions

Questions

Quetion: 01

An equilateral triangle has each of its sides of length 6 cm. If
(x1,91), (z2,Y2), (x5, y3) are its vertices, then the value of the determinant

x1 y1 1

Xy yg 1 | isequalto
x3 y3 1

A.192

B. 243

C. 486

D. 972

Quetion: 02

If A, B and C are square matrices of order n such that

det(A) = 3,det(B) = 4, det(C) = 5, then the value of [det (A’BC™")]equals
(where [.] represent greatest integral function)

A.2

B.5
C.7
D.11

Quetion: 03

If A(z1,91), B (x2,y2) and C (x3,y3) are the vertices of an equilateral triangle
2
X1 y1 2

whose each side is equal to a, then| x5 yy 2 | isequalto
X y3 2

Quetion: 04

If A'is a square matrix of order 3 such that A2 + A + 41 = O, where O is the zero
matrix and | is the unit matrix of order 3, then

A. A is singular and A + | is non-singular

B. Both A and A + | are non-singular

C. Ais non-singular and A + | is singular

D. Both A and A + | are singular

Solutions
Solution: 01
Now,
NI oy 1
H Ty yo 1|=9V3= |2y yo 1| =243 x4=0972
x3 ys 1 ry ys 1

Solution: 02
Al =3, B|=4and|C| =5

Now, det (A*?BC™") = |A*BC™!| =

Given,

JAP|B| 9 x4
cr 5



[det (A*BC™Y)] = {%] =7

Step | : Find the area of triangle using determinant
Let area of AABC be A

1 oy 1
Then, A = —| 25 yo 1
2
r3 ys 1
1 Y 1 1 Y 2
=20 = |2y Yo 1 |=4A=| 20 Yy 2
x3 yz 1 r3 Yz 2

Step Il : Fi\n/d_the area of equilateral triangle whose side is a
3 9

. A:Ta
=  4A = /342
= 16A% = 3a!
2
T Y1 2
To Y2 2 :3a4
r3 Y3 2
A(A+1)=—-47
A||A +1] = —64

Both A and A + | are non-singular

Correct Options

Answer:01
Correct Options:
Answer:02
Correct Options:
Answer:03
Correct Options:
Answer:04
Correct Options:
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